D"t H‘S b“‘(‘
%5\\)\'\3 s‘-(s'(’@/\ms \a‘\ 60&95’\”1%:\10',\

@

substitution.

Goal: I will beable to_determine solutions of systems by

Tool Daz
Fitmulas o

sationn

E/Xahp/c, o] y=© <

Sobsttute
y=10 nto
Lub\Jq'k‘Iv\ 1 1O =X+l

Here™s How. Notes & Examples

SNEZ

[ =Lrxl vz

10-b: 2X+btp
4 =zx
L= X

(X,\})
(2,10)

Chveck

(3,12)

Y= 4X

12 =4(3)

1z=12 /

57(-»2\/ =22

3(3)s2(12) =32

U+d =33
3y =%y )/

@

1/17/2020

GXG MFIL

\{"‘t X into
b%ut\'{". an 2

P103 Xz3
o Lybu-r‘-.'y. \

®@
S obetdte

D Y =X

Y =t
Y =4(3)

dx+ ?_\{ G

D42y =33
5)\4'2_(!‘{')0 233
S +9Yx =23
Hix =23

X =3

b= (3/}2)

®

oty
o Ty

60’0—:\4\1:*(,
{=-2x o

uhuA-‘Han
Solve —‘:0/ \{

{= -2x
Bx+y =D

7DX+\/3 &

7;x+—(—lx}-&
X =%

Y= 2x

\lc—z(aﬁ

\l e =l

(4,-10)

gxarﬁe,

Sobstidle

C ey the

ybu.i«" o

TOSU{%L/) %{—%;L\ ¢ KT e ey ,D)S
%ﬁ{b\ MDAL S, mofe 4han KD. How
Maeay did esth make

C":%'h?l'\“ 5 k=KD's s
C+K =482

C =Kk

C+k =482
k56 )k = 482,
2KeS, =482
LKFSL-56 = 3 -She

% = 42 C- 209
K =211

czkxSh
cz 2\345L




